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Question Number : 1 Question Id : 5471143001 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

‘Gabbilam’ the literary work written by

Kéheosn o o EPaR) BI0DS
Options :
Sr1 Sri



C. Narayana Reddy

2. Troeaes B8
2. % 22
K. Chalam
8. P90
3. %
Gurram Jashuva
0eso erPspaE
@
4.

Question Number : 2 Question Id : 5471143002 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Smit. Draupadi Murmu served as governor to

$508 @00 Sy KB SIBVD TGS

Options :
Odisha
e,
1. %
Jharkhand
Bardo&
2. "

West Bengal

LN Jorre



Madya Pradesh

WAEIaRS
4, %

Question Number : 3 Question Id : 5471143003 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Who is the 6® President of independent India

FeBo(Ey grEEeals 63 o308

Options :
V. V. Giri
o.a).HB

1. %

Neelam Sanjiva Reddy

Heo ﬁme@éﬂ%

Sankar Dayal Sharma
FoEbEIrS &8

3. ®
Radha Krishnan
(ORI ALI=APS )
e es
4. %

Question Number : 4 Question Id : 5471143004 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Public grievance redressal platform for the citizens of AP is known as

SoFHEE FBe (Herdreghe H6B D68 DH?
Options :

Praja Vani

[deeaeed
1. %

Spandana

SNeTnly
2.

Janavani

2356
3. %

Praja spandana

ESl=glelaty

Question Number : 5 Question Id : 5471143005 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

National Botanical Research Institute 1s located at

FED HE PR JOEFS D0 (BEE sTTgecho

Options :

1.4



Lucknow

Simla
ERPRh
2. % it
Mysore
VL)
3. %
Nagpur
et te)
4. %

Question Number : 6 Question Id : 5471143006 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Minimata disease is caused due to the heavy metal

QAT B8 SBeghd rES o

Options:

Led
aS&

1. %

Mercury

33?53?375
2. ¥



Cadmium

Eﬁé&écﬁséw
3. #

Arsenic

so\E
4, % ~

Question Number : 7 Question Id : 5471143007 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The human factor which cause floods are

NBBOE BP8EacD PP SeSeaeeD
Options :

Deforestation

o) BTN
1.¢ . 2

Heavy rainfall

@68 JYarS0

Cloud Burst

e QY EIFEw
3. %



Large catchment area

2% HBFEE (Foossw
4. % i

Question Number : 8 Question Id : 5471143008 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The idea of Indian constituent assembly was put forward for the first time by
58 el 5 63 o8 EEH Fddm Soth 3D)N6?

Options :

B. R. Ambedkar

] 5&.@5.@05555&5

1. =
. R Dag
2.8, 70
2. ®
G. B. Panth
- 2.8). 508
M. N. Roy
CH0. o). TPCD
4, &

Question Number : 9 Question Id : 5471143009 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
The author of the book ‘poverty and Un British Rule in India” was

P @0k of AR 6rS 55 B0l oF HIA) ED0DK BHG?

Options :
Dadabai Naoroji
errerdy P60

1.¢
R. C. Dutt

_ e3b. 0. 8
V.K.R. V.Rao
2.8.6.9. 079

3. %

Dr. Bipin Chandra

oon B woll
4. %

Question Number : 10 Question Id : 5471143010 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The prime Minister of England at the time of Queen Elizabeth IT's death

Foletnt %5 20=BE HHEH0T DrE Borpol (HEPK Dol@ ASG?
Options :

Boris Johnson

5509 S

1. %



Liz Truss

DESD

Theresa Mary
B0 B

David Cameron

QL sedrs

Question Number : 11 Question Id : 5471143011 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Who served as longest speaker of Lok Sabha?

S8 ¢ QBB JES SPodm B BRITE?
Options :

G. V. Mavalankar
2. 9. 5Pe086

Balaram Jakhar

20eTP60 ﬁé&ﬁ
2.



P.V. Sangma

8. o). DO
=

Sivaraj Patil

BT arES

Question Number : 12 Question Id : 5471143012 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following schedule of Constitution incorporates the salary and

allowances of Speaker and Deputy Speaker of Lok Sabha and Chairman and

Deputy Chairman Rajya Sabha?

CEoKnE i 65 S Herdd. & $grd btk Ty S8 e,

s 88, §Emeid SR Dod

Options :

Fifth
Fol ATy

1. %

Second

[e]o]at
2. ¥

Ninth

5"&3&6525
3. #®



Tenth
HES

Question Number : 13 Question Id : 5471143013 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The term “economic justice’ in the preamble of constitution is a resolution for

oragolf (H856° 60 b Sgdn  S0RmRl

Options :

Equal distribution of wealth

R0 P HoWEB
1.

Economy in administering justice

mﬁéﬁaﬁp 208058E® @gé elaTala)
2. #

Socio-economic revolution

e—&%é, PoNE DHDHB0
3. %

Cheap Justice to poor

S0 mﬁé@ﬁpﬁ& o8 @oboditio
4, @



Question Number : 14 Question Id : 5471143014 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The responsibility of preparing of electoral rolls rests with

5.8 erdee $airt oo elalt Dol G0
Options :

Parliament

PP

Local administration

POE (Dgb&rin

2. ®
Election commission
WS Doz0a0

3. %
State Government
o°(g) (essin

4, &

Question Number : 15 Question Id : 5471143015 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which of the following are the determinants of voting behaviour?
a) Political events preceding an election

b) Performance of ruling party

c) Ideology professed by a political party

d) Economic conditions at the time of election

e) Charismatic personality of the party leader

Bod &S L.B0R KBDD (HerdSsH Fon wozen ?
a) I SwotH oredcd Foeaden
b) 58 &r§ $28%
c) e 8 eSS
d) QYo FHoDENS® &Y B8 K
e) PG TPADH &8s Segrn
Options :

bie.e

8 b c

a,b.c,d&e
4.

Question Number : 16 Question Id : 5471143016 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Who proposed the “principle of market”

‘Er0)y SoelEeR)) (D80 DS6.

Options :

J. B. Say

- 2.9. D

J.M. Keynes

2.055.85,
2. ® i

Karl Marx

SIS
3. %

Fredman

BESrS

Question Number : 17 Question Id : 5471143017 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The market for short term funding?

eNsPOE D€ Ao HoooND H°8)Es

Options :



Money Market

&35 5°8)e0
1.¢

Capital Market

STt maéef
2. %

SEBI

SEBI (2)
3. %

Stock Exchange

FE JSyoE
4. % &

Question Number : 18 Question Id : 5471143018 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The pampas are which plains of Argentina?

&
@808TSE Hoarh & Poearen
Options:

Costal Planes

&% Zowraren
1. %

Till Planes

8S hoeaeen
2. %



Loess planes

v SR Forearen

Alluvial planes

©OIRIAD0 oI

Question Number : 19 Question Id : 5471143019 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Under the Indian constitution, residuary powers are vested in

PO8 TEoKEnG’ @e) ety D8 somd?
Options :
Executive

S‘U-iﬁéﬁnbz{?".j‘bé
1. % w

Judiciary

NSRRIV

Parliament

L D0ED



State legislature

o TS 9%

Question Number : 20 Question Id : 5471143020 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Social group is characterized with

DeATrRE DA a3n8); ©£e30

a) Social contract
b) Social relationship

c) Social organization

a) PoaE aD)oEw

b) Jrodns Dozogism

C) FogoE S8
Options:

a) and b)
| v Y&bam b)

a), b)and ¢)

a), b)&daoin ©)
2. %



Only b)
b) som(5>

a)and c)

" a) $8a%0 ©)

Question Number : 21 Question Id : 5471143021 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Husband and wife within a family can be regarded as

Loenoasnd® gromate HOHBI.
Options :
Class
tetats
1. %
Caste
0030
2. %
Sect
o
3. %

Social role

FoSrRs S
4.9



Question Number : 22 Question Id : 5471143022 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
International day of ‘zero wastes’ 1s observed on------------- ,
©oSTHAD ‘Ko 580’ O ETY) @ B rHomed.
Options:

March 25th

58y, 25
1. %
March 30th
58y 30
2.9
April 6
= o, E
3. w@& 2
April 10th
S5, 10
4, %

Question Number : 23 Question Id : 5471143023 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which article of the Indian constitution deals with the disqualification of MPs from
the Lok Sabha or Rajya Sabha?
oramsorio 6 O estn [FEebo %85y B8 tay S SyfEmd) 6 Tabd?

Options :

10

102
4.

Question Number : 24 Question Id : 5471143024 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following articles is related to panchayat Raj system in India?

& (508 IS O ef8tn Sorardrd S Sonobole.

Options :



124

Question Number : 25 Question Id : 5471143025 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
K. M. Munshi was associated with ------—--—---- .

K. M. 308, D 5086° dehgen
Options :

Constitution draft Committee

D“eaﬁé“oﬁ Soarands
1.¢

Preamble Comimittee

B05roanS &
2. %

Public accounts Comimittee

ARSI RCTN
3. %

Parliamentary Cominittee.

FE0erd
4. %



Question Number : 26 Question Id : 5471143026 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
In which part of the Indian constitution. the fundamental rights are provided?
58 Tersoriod & Qgernd® Sy Pl SPoissndia?

Options :

Part IT

Part IIT

Part IV

Part V

Question Number : 27 Question Id : 5471143027 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The fundamental duties were included in the Constitution of India by which of the

following Amendment Act.

U8 Trepsoiio & %58 (Heebo [(PEAE e Sokhdbd.

Options :

1. %



39'[11

Question Number : 28 Question Id : 5471143028 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Dr. M. Balamurali Krishna was a renowned artist of ---------- :

&oHl DONFODY Pt BN o EFH oS Ted?

B

Options :

Hindustani Vocal

&“ﬁotﬁaﬁ&ﬁ) me(go

1. =
Carnatic Vocal
soe6E meleso
2.¥ T & E

Dhrupad style

£ RO(DW Ao



Kuchapudi Style.
ErDgel SolRdtrdbo

4.

Question Number : 29 Question Id : 5471143029 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

‘e -Mail’ stands for -------—=-aeeeeee-- ,

‘e -Mail’ e9drP--mmamemnaa-

Options:
Electrical mail
»o|88S Dond
1. %
Electromagnetic mail
JoE® DHAIBE dvond
2. % =
Electronic mail
JostlE Sand
3. =
Engine mail.
BORD 00NS
4. %

Question Number : 30 Question Id : 5471143030 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The Eight-fold path philosophy was propounded by --------- :
©spoll o) (H8IPBONIG.

Options:

Goutham Buddha

PSS a0t
1.9 >

Ramanuja

[SRNVONVE S

Mahavir

KB

Shankaracharya.

Question Number : 31 Question Id : 5471143031 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
In the following parties. which one is not a state party.
& Bod S° [FPod0h [ o 8 S°R6 Db

Options :

1. %



DMK

SAD

YSRCP

CPL
4.v

Question Number : 32 Question Id : 5471143032 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The BIP’s first president 18 ------------------ .

FEEAD wdTrard Indd oFH IS?

Options :

L. K. Advani

6. 8. eoToed)

od

A. B. Vajpayee

L o DDTERE



Sikandar Bakht.
2BoKb g

Question Number : 33 Question Id : 5471143033 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Anatagiri hills is in which of the following states of India?

©308A0 Soen D m@meﬁb‘ E0d?
Options:

Madhya Pradesh
S0 DE

1. %

Telangana

B0
2. ¢

Chattisgarh

West Bengal.

D8y Zorre
4, %



Question Number : 34 Question Id : 5471143034 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The longest rail tunnel in the world is -----=------- :

(BP0SH0E°) ©8& FEIS Bew SeBorfo Jb.
Options:

Gotthard Base

K85 B
1.¢ o

Yulheon

Channel.

PR

Question Number : 35 Question Id : 5471143035 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The supreme commander of Indian armed forces is ----------- :

P88 DI ©BRNS AN BTHDHS S?

Options:



Prime Minister of India

PO (DTN 0o|S

President of India

O T8
2.¢ e 8

Vice- president

&2 O°lRD8
3. ® Lm

Detfense Minister of India.

P OFes TP 00(&
4. %

Question Number : 36 Question Id : 5471143036 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which legal body has the power to enforce the fundamental rights in India?

FOSB0E" O S By (@Y i sber SEod?
Options :
Parliament

P BB0LD

1. %



Supreme Court

Bolwo 58
2. ¢

Human rights commission

e FE)e RS

3. %
Ministry of Home affairs.
(s o8& 3o

4. %

Question Number : 37 Question Id : 5471143037 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Speed of the internet is measured in --------- .

20&0)85 SRy GS° Penr?
Options :

GHG

1. %

Gbps
2. ¥



Question Number : 38 Question Id : 5471143038 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

National emergency is mentioned in the constitution under article --------- ;

TeRjol06) O 0f88RE" w8 JHTAY SFoBHE E5H

Options :

398
1. %

360
2. %

356
3. %

352
4.

Question Number : 39 Question Id : 5471143039 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

73rd Amendment of the constitution refers to --------------- :

aplel] Gﬂaﬂéoﬁoe‘i‘sﬁ 733 [DHBes
Options :

States reorganisation

oolgpe HBEBHQEBe
1. %



Panchayati raj institutions

HoTrond oret

2.
cooperative Societies
DFPANE HDoHreen

3. 8
Fundamental duties
(GRENE e

4, %

Question Number : 40 Question Id : 5471143040 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The division of powers between the Union and States are mentionin  schedule.

Sogs b0ty T eGs T e 60D 2 WS D50i06?
Options:

th

3.¢



Sth

Question Number : 41 Question Id : 5471143041 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
He wrote a letter. The passive voice of the above sentence 1s
Options :

A letter was being written by him

1. %
A letter was written by him
2.¥
A letter had been written by him
3. %
A letter is written by him
4. %

Question Number : 42 Question Id : 5471143042 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

He is my brother. The underline word is a /an

Options :



noun

pronoun
2. ¥

preposition

adjective

Question Number : 43 Question Id : 5471143043 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Neither of the paintings sold

Options:

have been

Were

dre

was



Question Number : 44 Question Id : 5471143044 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

He is always found reading the newspaper. The tense of the underlined phrase is

tense

Options :

Present indefinite

Present continuous

Present perfect continuous

Present perfect

Question Number : 45 Question Id : 5471143045 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

“Once in a blue moon “means

Options :

Once 11 a month

Frequently



Once in a year

On rare occasions

Question Number : 46 Question Id : 5471143046 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

“To save one’s face “means

Options :

To hide one self

1. %
To evade disgrace
2.
To oppose
3. %
To say clearly
4. %

Question Number : 47 Question Id : 5471143047 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The antonym of ‘Adversity’ is

Options:

Calamity

Prosperity

Stupidity

Ecstasy

Question Number : 48 Question Id : 5471143048 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The nterviewer asked the candidate distance he came from

Options :

what

where

which
3. %



whom

Question Number : 49 Question Id : 5471143049 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

I have not seen him yesterday

Options:

from

since

for

01

Question Number : 50 Question Id : 5471143050 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

My pen has been stolen. The active voice of the above sentence is
Options :

Some one stolen my pen



Someone had stolen my pen

Someone has stolen my pen
3. ¢

Someone stools my pen

Question Number : 51 Question Id : 5471143051 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

I am coming too. Please wait for

Options :

|
1. &

mine
2. #

I am
3.

me



Question Number : 52 Question Id : 5471143052 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

How many fruits yesterday

Options :

you have eaten

1. %

did vou eat
2.

do you
3. %

does you
4, %

Question Number : 53 Question Id : 5471143053 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

[ went my father’s advice and bought this house

Options :

off

against
2. %



at

out

Question Number : 54 Question Id : 5471143054 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

I an old school friend of mine when I was travelling in Canada

Options :

came across

1.+
came in
2. ®
come at
3. %

came out

Question Number : 55 Question Id : 5471143055 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

She their engagement after discovering the he was a liar



Options :

break of
1. %

broke of
2. #

break off
3. ®

broke off
4.

Question Number : 56 Question Id : 5471143056 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

“Swan — Song means

Options :

To saying beautifully at last

To join a band a bird of the same feather

To praise some body with selfish interests



Last work of a poet or a musician before death
4.

Question Number : 57 Question Id : 5471143057 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The synonym of the word “Barrow “is

Options:

Fertile
1. =

Profuse
2. %

Desolate
3. %

Stop
4., %

Question Number : 58 Question Id : 5471143058 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

We have a house a big garden

Options :

with
1.9



on

2. %

art
3. %

for
4, %

Question Number : 59 Question Id : 5471143059 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Do you know the importance clean water?

Options :

with

1

about

Question Number : 60 Question Id : 5471143060 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
No sooner did the teacher enter the class the students stood up
Options:

when

after

than
3. %

by

Question Number : 61 Question Id : 5471143061 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

‘A’ can do a piece of work i 10 days. ‘B do same work in 20 days and ‘C” can do

in 25 days. In how many days will A.B and C finish the work together?

‘A’ 28 590 10 BPes®S, B od 590 20 es®, ‘€ o 52 25 Fres’s
Jdbrioh. o S0 Grhh Sk A7) Gered’ JabKet.

Options :

. 5
5 — days

19
1.9



- B
5 —davs
19 }-’

2. %
2
]UEda}fﬁ.
3. %
3
i lﬂﬁdays

Question Number : 62 Question Id : 5471143062 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If 10 men weave 10 mats in 10 days then how many men will be required to weave

100 mats in 100 days?

10 008 e 10 Fars® 10 e Ja, 100 Sarod® 100 mibe
30O Qo8 $H0d Hhden ©sss0?

Options :

10
2. ¢

1000



100

Question Number : 63 Question Id : 5471143063 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If A:B=2:3. B:C=5:4, C:D=3:7. then find A:B:C:D=?

A:B=2:3. B:C=5:4, C:D=3:7 @onad A:B:C:D Dendd EdfCkosm
Options :

13:17:14:21

10:15:12:28

43:41:31:40

8:6:5:10

Question Number : 64 Question Id : 5471143064 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If 40% of the number exceeds the 25% of it by 54 the numberis .

2.8 $ogg6™ 40% @36 wAE 25% § 54 M08, © Hogy

Options :



100

Question Number : 65 Question Id : 5471143065 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
A car moves from A toB at a speed of 60 kmph and comes back from B to A at a

speed of 40 kmph. Then the average speed of the car during the journeyis .

2.8 % A 508 B & Kot 60 85 FK08® Ekhendod S0 B S0l A8
ot 40 8 Jrio8® 8B $K0b. O (Hekre HHoHos® S8 Mk
3o

Options :

50 kmph

240 kmph



48 kmph
3.

25 kmph

Question Number : 66 Question Id : 5471143066 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

. . ; 1
Two friends X and Y walk from A to B at a distance of 39 km, at 3 kmph and )

kmph respectively. Y searches B, returns immediately and meets X at C. The

distance from AtoC1s .

“aigd) ’5&%6&)@ X 800 Yen A S0l B8 56365,521@ 39 8% Sroel)

3kmph H0ck ~ kmph Frres® SHFG. VB Q 080, Jobd 86A

2 | —a

3% XA €58 Sorrpi> ©and A $ob C 5% Ko &rdk
Options :

78 km

36 km



39 km

Question Number : 67 Question Id : 5471143067 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Find the 350 rupees increased by 12% is

350 Erardbe 12% Do o Dos.

Options :

402
1. %

308
2. %

392
3.

408
4. %

Question Number : 68 Question Id : 5471143068 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Find the missing number in the following number series:
2.7 15,7,63,127.
& (Bod Bdes® (Hangto FHos® DD SHob?

3. 7 15,2.63, 127

Options:
30
1. %
5 31
47
3. %
52
4. %

Question Number : 69 Question Id : 5471143069 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Find the next sequence of letters IW, HU, GS, FQ, ?.
SHard Hfy) Eodn GwE) Jendd IW, HU. GS. FQ.?

Options :

DO

DM
2. ¢



MD

MN

Question Number : 70 Question Id : 5471143070 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If ‘DEAR 1s coded as ‘FGCT’, then how will ‘READ’ be coded

‘DEAR’ &3 &t ‘FGCT' &G o7y, ‘READ’ &3 el (808 efore orabides)
Options :

TGCF
1.4

CFAG

FGAR

AEFR

4, %

Question Number : 71 Question Id : 5471143071 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Find the missing value for a given puzzle?

s

BN HEWE® E°DoDF Dend EHiodn?

SADIE

Options :

20
1. %

15
2. ¢

71
3. %

51
4. %

Question Number : 72 Question Id : 5471143072 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Find the angle between the hour hand and the minute hand of a clock when the time

is 9:30.

Kadimd08? S50bho 9:30 dvaren wond Boid mepe Eéadgé’seao os?

Options :

105°
1.4



2. %

1350
3. %

12"
4, %

Question Number : 73 Question Id : 5471143073 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Find the day of the week on 01-01-20017?

01-01-2001 @ &*8a0 Soye?

Options :
Sunday

Zlntuilele)
1.9

Monday

DEoardo

Saturday



Tuesday
Evlolat-Fvilele

Question Number : 74 Question Id : 5471143074 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If in a certain language, POPULAR is coded as QPQVMBS, which word would be
coded as GBNPVT?
8 QB P&, POPULAR & QPQYMBS e &5 Shidigand,

D %o GBNPVT e 86 Schatosod?
Options :

FARMER

FAMOUS
2. ¢

FRAMES

FARMES

Question Number : 75 Question Id : 5471143075 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In the following question according to English language, there is a definite
relationship between the first two entries. The same kind of relation exists between

the third and fourth entries. Choose the correct one among the given options to fill

the blank.

806 3, Fod Botd dre e a8 @@éé d0w0go &0, ©d dbore
S0P QIS F @'J@tgéjgcﬁm} 208 o3 DGR doaogo SOA &)
PN a0tHE e,

Bread : Yeast :: Curd : __?

R &R ?
[H] (]

Options:

Fungi

~do(&o

1. %

Bacteria

. weggacﬁjc

Germs

(B0e
3. %

Germs

DS soen
4. %



Question Number : 76 Question Id : 5471143076 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following year will have the same calendar as that of 20017

& (Sob Eéoée‘;‘ijabéf 2 H0E)50,2001 & Sos\bo s5BoEbh SO dotwod.
Options:

2008

2009

2010

2007

Question Number : 77 Question Id : 5471143077 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If ‘+" means ‘=, <’ means *-*, ‘=" means ‘*’ and ‘- means ‘+’ than “8+6x4-3-

4:|?"1

5

5 T mdE, KD e, H R X mEe, e, Ty
“8+6x4+3-4=7" Jend) wos?

Options :

1.4



%)
14
2. #
10
3. #®
60
4, %

Question Number : 78 Question Id : 5471143078 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

How is my sister’s husband’s mother related to me?

o K0 FE SO T DTS00 ?

Options :
Brother
Ninlernd

1. =
Aunt
o

2. %



Sister

5¢56

Not related

DenSod So2oldn Bk

Question Number : 79 Question Id : 5471143079 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Find the odd-man out of the following.

Bod TIS° D556 DB?

Options :

BCD

NPR

KLM

PQR

Question Number : 80 Question Id : 5471143080 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Find the simple interest on ¥ 15000 at the rate of 8% per annum for 2 vears.

&.15,0000% 8% B4 B 2 Soned edhy eHSE Jos?
Options :

2100

2600

3000

2400

Question Number : 81 Question Id : 5471143081 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Pomnting to a lady. a man said, “The son of her only brother is the brother of my

wife.” How is the lady related to the man?

&8 @S DR a8 HUD, ‘o 88 P Hirdd T griH

PO oD, © (@ © HHDIE DkoHob.

Options :



Mother’s sister

58 Bg) AFesd

1. %
Grandmother
sy [ X

2. %
Mother-in-law
Dlafgitey

3. #
Sister of father-in-law
SoPSed 8836

4.

Question Number : 82 Question Id : 5471143082 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Question 1s based on the diagram given below:

20 Ogr Q) $68809), (Bod B J&rerdsn adod.

=500

Hindi = 240 English = 150

Telugn= 170

How many people speak only English?

oS08 S0 gD SrBDH SrerdiKes?
Options :

75

1. %

70
2. ¢

Question Number : 83 Question Id : 5471143083 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Question is based on the diagram given below:

SO Tgr AR 568009, (Bod HED JSXrersssn 8l0s.

1=500

Hindi = 240 English = 150

Telugu =170

How many people speak exactly two languages?
BotH grRedH SrEh SrErRardd JosH08?
Options :

90

Question Number : 84 Question Id : 5471143084 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Question 1s based on the diagram given below:
SO0 Oge QPR 563009, (Bod A SErerysn aded.

1 =300

Hind: = 240 English = 150

Telugn= 170

How many people do not speak Hindi?
A SIATIE Eﬁoﬂélj\tﬁé@ T 0& od?
Options :
260

1.4

160

Question Number : 85 Question Id : 5471143085 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Question is based on the diagram given below:

5O)% Oge DT 308009, (Bod &L ISrerasn ads.

1 =500

Hindi = 240 English =150

A

v Telugu= 170

How many people speak at most one language?

28 28 RS Qo8 Hod SrepHEd?

Options :

395

-3
L
[

-2
h
h

4.+

Question Number : 86 Question Id : 5471143086 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



There are five people. L, M, N, O, P sitting in a row. To the right side of N sat L.
To the left of P sat M. To the right of O sat N and to the right of L sat M.
wthbd dfen o LMN.O.P &tdm Srtnmmh. N § 96 3 L &rdymb.

el

P& 2o 39 M ntoymyo.0 8 %8 3o Néstpyms. L& S35 MErtyms.

W o

The person who sat at the extreme left is?

o = e . o:.b,
w508 D 39 SrBS) S8
Options :

N

1. %

M

3.¢

Question Number : 87 Question Id : 5471143087 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



There are five people. L, M, N, O, P sitting in a row. To the right side of N sat L.
To the left of P sat M. To the right of O sat N and to the right of L sat M.
wthrbd dfen el LMN,0.P S&im Srtpmmh. N & &8 398 LErtymib.

P& i 3 M &ty 0 & %8 39 N&mdoymgs. L8 830 M &ty

The person who sat at the extreme right is?

od0d D JHI St &8
Options :

O

Question Number : 88 Question Id : 5471143088 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



There are five people. L. M, N. O, P sitting in a row. To the right side of N sat L.
To the left of P sat M. To the right of O sat N and to the right of L sat M.
@t Hen el LMN.OP &todr &edymd. N § £ 393 L srtnmi.

P8 Qi 39 M Ertinoeih. 0 8 &6 39 NE&rinmh. L8 HE3H M Ertyomyil.

The person who sat in the middle is?

S gt 8

Options :

L
1.¢

Question Number : 89 Question Id : 5471143089 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Find the value of 36-2(20+12+4+3-2<2)+10=

36-2(20+12+4%3-2x2)+10 Dend dos?

Options :

4
1.4



2. ®

3
3. %

10
4. %

Question Number : 90 Question Id : 5471143090 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Find the unit digit of 834078

g3456789 G 288 FH50S°Q ©08 @wE) Dend?

Options :
3
1. %
8
2.
9
3. #
10
4, %

Question Number : 91 Question Id : 5471143091 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
Study the following Pie-chart carefully to answer the question,
Total Students = 13000. Percentage distribution of Students of different courses i a
City.
808 ad) - e(igm 564000, Bob BEY Shrgrto ol
2o &‘meéé&@ éoa:?g = 13000

28 B6006%) 2% St StiH%) Aorshe T80 :

Pharmacy
13%

What 1s the difference between the number of students of MBA and MBBS
courses?

MBA »6ain MBBS ?&Qw OEHER) é’)tﬁ‘gtﬁg@ é)tﬁeg Ko éé@aegﬁo 2087

Options :

780



2600
4.

Question Number : 92 Question Id : 5471143092 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Study the following Pie-chart carefully to answer the question.

Total Students = 13000. Percentage distribution of Students of different courses in a

City.

Bod ad)¥ p-TG g 50800, Bob HEH Srgrio siob.
080 @ﬁbc{%@ éomé; = 13000

()

28 Bmod DA Sed SoHE) domte @0 ;

B.Tech
T%

Pharmacy
13%

Students of MBBS constitute what percent of students of B.Ed.?

MBBS Sty 3@56{3@ éoaaé, B.Ed <Ithi&d) 3)?:5%5{3@ éoa}eg@ﬁ HodTE0?



Options :

25%
1. #

33.33%
2. %

50%
3. %

66.66%
4, @

Question Number : 93 Question Id : 5471143093 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Study the following Pie-chart carefully to answer the question.

Total Students = 13000. Percentage distribution of Students of different courses in a
City.

Bob s DT enfidre 568000, Bob S Kirgro a0l

ngo arste Rogg = 13000

w8 Heod™ DS S Hih) e B0 :

Pharmacy

What 1s the total number of students in B.Ed.. Pharmacy, MBA and MBBS put

together in all courses?

@R 6’ got B, Pharmacy, MBA :h0ai MBBS i)

o st Rogs

Options :

1.

8190
v

8290



8180

Question Number : 94 Question Id : 5471143094 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Choose the group of letters which is different from others:

oADS B8 JJore &) oFd Dot NoHs 8.
Options :

POCG

KLIZ

BUDX

Question Number : 95 Question Id : 5471143095 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Find the value of

cﬁwégf eV o)Oes?

Options :

14

Question Number : 96 Question Id : 5471143096 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Joule 1s related to Energy in the same way as Pascal 1s related to

Fen 488 Jomofodltym &S _ 7 8 Boofohid
Options:

Volume

SVEIRSIa Febiclarle



Pressure

HESo
2. %

Density

Jeo(L3es
3. %

Purity

RS
4, %

Question Number : 97 Question Id : 5471143097 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Study the following information carefully to answer the given question:
M,P.D,K R, T and W are seven members of a family. There are three female
members among them. There ae two Lawyers, two Teachers, two Engineers and one
Doctor among them. None of the female members 1s Engineer. D is one of the
Lawyers. and 15 husband of P. W s one of the Teachers. D and R are children of M
and K. T has the same profession as that of his uncle R. K 1s grandmother of T and
W. R’s father is also a Lawyer. K is not a doctor

8o 8 SiraroR) g eabiont, sl BEH Shrgddiod.
MPDXRT a0 W i Sen a8 Himonod™ it Segen. 206 St
Soire gy Eree &, D06° aifth by, ath Bilth, B8 soad, &8 T
56 aamd. dire Sehen QS8 50208 0. D erahgs’ a8 560k P 8 &t
W é’éeﬁgéﬁ 2.8%. D 00 R eo M 0ain K o dgen. T e &8 08) @oHo R
30 $)8 It K e §8 Thod W of ey R dofb &

mﬁgoﬁaa%&. K %6 .
L]

Who 1s the doctor?

806 66" K5 A56?

Options :

P
1.¢



Question Number : 98 Question Id : 5471143098 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Study the following information carefully to answer the given question:

M, P.D.K.R. T and W are seven members of a family. There are three female

members among them. There ae two Lawyers, two Teachers, two Engineers and one

Doctor among them. None of the female members is Engineer. D is one of the

Lawyers, and is husband of P. W is one of the Teachers. D and R are children of M

and K. T has the same profession as that of his uncle R. K is grandmother of T and

W.R’s father is also a Lawyer. K is ot a doctor

(806 8% ) g eubtodh, B BED HErEEbS0s.
MPDXRT Hbad W e ghen o8 Himonod™ ity Sggen. 06 e
ke Sgfger oo st D06° aifth e, aifth G5y, 8l aoeddh, o o
45 . Soiree Sege KSR w0l S, D e’ a8t $poat P § ¢

W é:"jégé’s 288, D 00w R ev M 8o K o dem. T & éﬁx‘é 089 ©odHd R

ik

D HB 2. K od &8 T bty W o ey, R do dree

o)
Fydhar. K 56 .
(4]
How 1s W related to R?
W o éé% R & 5h?

Options :

1. %



Nephew

faéq;cij

Niece
S8 %en

2.9
Son
SR %s

3.
Daughter
E3ee D

4, %

Question Number : 99 Question Id : 5471143099 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Study the following information carefully to answer the given question:

M.P.D. K. R. T and W are seven members of a family. There are three female
members among them. There ae two Lawyers, two Teachers. two Engineers and one
Doctor among them. None of the female members is Engineer. D is one of the
Lawyers, and is husband of P. W is one of the Teachers. D and R are children of M
and K. T has the same profession as that of his uncle R. K is grandmother of T and

W.R’s father is also a Lawyer. K is not a doctor

(Bob )% idmereed) g eifiabiSonh, B HEH SErEI08.
MPDKRT bato W e den a8 Hinonod™d b dige. J06° S
Soiree Sy o e, D06° o e, st iy, adt soadth, ¥ @
£ s, e Sgfer A6 soadg . D ey’ bt $ba P § ¢
W Bi556® 286, D 560 R e M £80 K o doew. T e 8 o8 @obo R
30 98 I3, Keid &8 T hba W e ey R dof &
yabard. K w50 st

How 1s P related to M?
P e éé_%n M & ddHed?

Options:

Grand daughter
so5STeen

1. %

Daughter
L5070



Daughter-in-law

&5en
c
Grand mother
@Eﬁ:&é&é ' aﬁc‘éaﬁ:é
4, %

Question Number : 100 Question Id : 5471143100 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Study the following information carefully fo answer the given question:
M.P.D. K. R. T and W are seven members of a family. There are three female
members among them. There ae two Lawyers. two Teachers, two Engineers and one
Doctor among them. None of the female members 1s Engineer. D 1s one of the
Lawyers, and is husband of P. W 1s one of the Teachers. D and R are children of M
and K. T has the same profession as that of his uncle R. K 1s grandmother of T and
W. R’s father is also a Lawyer. K is not a doctor

o8 2d)d WSrarod) (g @égoﬁnéoﬁ?a, NI REA R o el
MPDKR.T 6a W e der o8 Hinonos™d bty S5gen. 266" Suih
ire S Sre e, D06’ sty iy, a B8, a g soudy, uf @
55 e, Sire Seger At soald . D erdhge’ alth Hba P 8 48,
W &:536® e.6%. D 560 R e M 6o K & doen. T e 38 880 ©0%0 R
30 $8 I, K o &8 T dod W o edkpyssy, R dof &
Tl K oo wib.

]

Which of the following pairs of persons are engineers?

Bod Sre woted® aoBlY) ASE?

Options :

MP
1. =

RT
2. ¢

RW



LW

KT



